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0000(21)0000
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4e

0000 (z,y) =1[0,000 P, 0000000000 P,0000000 (p=0)00000
00¢=000000000000008,00000(%,,0000000000000
¢n= R%sin(2¢)/2000002,y00000000 RO 100000000 ¢0000000
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Oo00o00-000000O0)ogoooooooo

O00000000000000BT00000O0P, 0000000000 Ep<0000OO0
O000000w>00000000000000000000000000% = 37/4 (mod )
0000000000000000 FOOOOOD00000FO Fe,y) = (v — ira?(y+
r),y — trad(z +1,)) 0000000000 000 70 2,y0000300000000
00 (6)00)000000 P, 00000000 y<000000000 (0000 ép> 0)0
bbby <Oobbbooobbooobbooobbbobobuooobobbooon
y=0000000000000000000000D0O000O0OOO0O 20000000
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guodoooooobbbibbw>000000000000

fi(z)0 C*00000002 < n 00 fi(z) = 10z > w00 fi(z) = 000000
D00000<a <a020000000000000000 2 € (a,a0) 00 fi(z) < 00
0<z<(g—a1)/200 fl'(ar+2) <0000 0 <z < (ap—a)/200 fi(ai+2) = 1—fi(as—=2)
guodooooooon
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0000 (7.1)000000 2,9,¢,n000000000 000
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gbooobog
000000000z <O0D00OD0O0O0O S D000O0O0OO0O0OOObOObDOn

OO0 7.1 c UOOO0000 ap €20 0000000 < n <2< U000 2200000
000¢00000¢t00000000000 20 pL,p€S 000000020 0000
gbbo200000b00000400

O0. o <z<a0d0 So00
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DDDDDDDDDDDDDDdt:§2dﬁ(2DDD)DDDDDDDDDDD

dip dy dv fi dx

WYy, 7.4

i A G Dby et p e (74)
(7.1)000 (7.3) 00

/

Yy 1 ~1/2 de

A S e a— 75
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000 7= (&2%/2+8/(24+)/)Y200000000000 (22)0 (7500000
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0000000 A =2+ &) V31 — /)22t + (P2 fiz + 4e(2 4+ ) Y3(1 — f1))?%, Ay =
e(2+¢e) 31 +u®) V2000 u=(42+¢)Y3) 2220000
00 (75000 (76)00 ey <r<a,0000 S00 dv/deD ¢,n000000000
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(7.7)0 (74)00000(23)00000000000000000000
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d@/d/@zODDDDDDDDDDDD
1=¢? mw—ll—ﬁ”ﬁ (1+o(1)). (7.8)
41— f1)
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00000000000 00000
A=) 20000
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0000000000 f,=1-/000007,00z2=(w+a)/20000000000
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0000000000000 /00000000
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00000000 2<3w/2007(x) <00000a; <2000 (7.8)00 €20 20 oy O
0a,000000000000000000000200,00000 fy(z)0000000
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g 7.2

007100080000 «*00000000dy/dt>000 M*)O00dy/dt<000
00 (07200)0
peVOOOO(p),t(p)D0DOOOOOODO
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pEM O004,t, 000000020000 ¢, 00 ¢(p) = o(t,p)000 &1(p) = p(ts, p)
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i (p) = p(ta,p) if k=13,

000 ¢,60 (7100000000000
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0000000006 (e)0 100020000000 ¢00000Q,0000 WH'np:
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0000/~ 00000000000000000000000WX'0P000000
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00000000000 i (e)0 0 *20000000000000000 4°0000
00000 000000000 060 M*000000000000000000
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0000000000000000000 0000000
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000000000000000000V(z,2:)=-20000000
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Top = 22+e€ Ig/c%iéleev (8.1)
T1p = —2sinb,

Top = % cos 6.
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0000¢>00000 a1(t) <b000

(8.2)
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F(0,¢) = 2eb? cos* 0 4 (2 + £)W?sin? 0 cos? § — 32¢3

goobooogooo
b=20000000 (21,20, 000000000000000C0OO0

1 4
~ 4 < ~ 1. (8.3)
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<z§+-£—égflvv2tan29>
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1 4 cosf 20 i
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U = U (DY), Ut = v,
U =o(DY), U=d(D?).
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00 9.2. y={(0,w) e M| =0(7),w=w(r),0<7<1}07000000000(r)00
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000 I
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oogv
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DooboboboooobobobouoboooboboboooboboboooIbIooo
voooooo
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10. DO ooood

(z,y) 00 00000000000 2000000000 Al,42,...,An000007 =
{1,2,...,n} 000 A=U,q;Ai000 f0 ADDO f(A) cR’0000000000f000
00000 nxn00000 A =(a;,;) 0000000 (associate)d

0 if f(Ai)NAj= 0. (10-1)

_ {1 if f(Ai)NAj#0,
ai,j:
00000000 S={N,L,M,»I,m}0000 (0000 SO0000D000O0O0O0
D000DO000o0O0o)0f0o001000000000 A

(10.2)

A= (ai;) = [AO A ]

Ay Og

gobbooogobbooooobbon

000 J=IuSO000000000000(102) 0000000 6x6000000000
A0 (10.1) 000000040 AA00000Rnx60006xn00000000000
gobg

(1) Z?:l Oéjﬂ‘ 7& 0 lf j - {n, l,m},
(2) St #0 if je{N,L M},
(10.3)
(3) St a; =0 if je{N,L, M},
(4) Z?:l ai,j e 0 lf j - {n, l,m}

YOOOoooo (d,e)DOOODODOOOO

(a) (a/;a)=((...d j;ap,d),...),(...a_1;a0,a1,...))000000000:€Z0000a, el

000 ¢ € NO

(b1) (¢, a) = ((a}, iy ---)s (Qky 3 41, ---)), k<00000,00004€Z, k<0000
a; € I,a, e NOOO a), =n,a; = ool]

(b2) (¢, a) = ((a}, ajyrs---)s (Agssary1,-..),k<000000k<i00 e, e/000000
DieZk<i0O00O d, € {I,m},a; € NO

(cl) (d',a) = ((...a},_q,ap), (ap—2,;a5—1)),h>0000000000i€Z,i<h—-10000
a €I,a;eNODOD af =N,a,_; = ool

(c2) (d¢',a) = ((a},_1,a}), (ap—2,5ap-1)),h>000000i<h00a, e I0000000
i€Zi<h—100000d, € {L, M},a € NO
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000000 (b)000 ()00000000000000000004000000000

0000000000 (d11)0(d12)0(d21)000 (d22)0000000000000000

0000000000000000000000000000000
»'O00000X00000000000000000 (d,e) eX00d¢000 .A000
000 (admissible) 1000000006, ,000¢,0000000000004€Z000
O0u=a,,000v=d,000 o, =100000000
0000:e/00000000000

I—{j€I|oz” 1}, c(i) = card
={jellai=1}, g(i) = ca (
S, = {j € Slas; = NN, #}, (i) = card(S,),
={Jj € Slays = 1}\{N, 7}, 2(i) = card(S;)

OO0 A«0D000000D0O fOOOOOOOODOOOODOOOOOOOODOODOOO
O00OMoser([5|00)0 00000000000 OOOOOOOOOOOOOOOOOO
o000 A:00000d

v={(z,y) e R¥z = x(r),y = y(7),0 <7 < 1} (10.4)

000000000000000000<7<10000 (1) = (x(7),y(r)) € Int(4i) 00O
v(0)€dAI D000 (1) €dAi00O00000

00 1. 0400400000071, 3000 ML,00000000000~0 (104)00
00~(0) el 000~(1)el,00000000 4(7),0<7<10000+(0)el000
(1) eT,0000000+0000000000T;,j=1,2,3,40 400000 (h.c)O
00000 (ve)000002000000000000

2000000+ 0014(r),0<7<100000000000 Hhs)0OOOOOAO
00 (d(H)O0O0~0+0000000000000000000 (vs)000000000O
200000 (000)000000000000000000000084i000000
0Dooooo0o

07,00000000000000000000000000000000000 400
000Ty,;=1,2,34000000000000

002 0000:ie 0000040000 20000000¢(G) 000000000
{{Hji}};ey 000000 20000000 ¢()000000000 {{Vmi}}ne, 00000
0ooo0o0o0o0o0o

() 0000000000000 Ointercalated 00000000000000000 {Hi(k)
Len 00000000000 ¢(G)000000010100000000000000000
00 {Vi(k)ex0O0DOOOO0OO0O00D0O000000000000000000O000

Hi(co) = {(z,y) €94i |0000 ke NOOODOO (z,y), € Hi(k) 0O OO
kO ocoO0OO0DOO (z,y)0 (x,y) DOOO },

Vi(oo) = {(z,y) €9Ai |0000 keNOODODOOO (z,y), € Vi(k) D00 O
kO ocoOODODOOO (x,y)0 (x,y)DODODO }.
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(b f0 00000000 DOCOODODODOOOODODODOO

F(Vmi(k)) = Him(k). (10.5)

fO00000O0O0O000O0OOO(0O0)0000D0 (DoO)obooooOoOoOd

U 10.1

003 0D000ie 0000 2()0000000 {{Eji}}jes 0 r(i))0000000
{{Cji}}jes, 0000000000

(a) 0000000000000 fO00000000000000

(b)) CO AiDD0D00O000D00000meNOOOD CCcVim)DOODOOOOO0OOO
000000 4000000000

0000 f4C)NVij(k) 00000 je /0000000 ke NOODOD Aj0000
0D00000000EO 4000000000000 meNOOOOEC Hi(m)OOO
DOEODOOODOOO0D0O0OOOOOOOO00f(E)NHij(k)00000 je,0000000
keNOOOOAjOD000000000 {Ejitjesy 000 {Cjitjesy 000 2000000
000000000000000000000000000j€S8,0000me,00000
D000 keNDOOOOD Eji(k) c Hmi(k)00OO0DO000000 je€S; 0000 me /0
00000000 keNDOODOO Cji(k) C Vmi(k)DDOODO

0000 keNODODODODOOO3000/YV)NVij(k)00000 je/0000000
0000 f(H)NHij(k)00000j€,000000000000000000

(¢,a) ex0000(,e)0000000000000000000000000000C0
000000

() 0000000
Vai, ai(a;) forallieZ,

v —
/s 10.6
H; = Ha]_jaj(a;—y) forallie Z,i <O0. (10.6)
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(b)i>k+100 (106)000 V;000 H;00000(d,a)0000 (b1)O0O

Vi1 = Va5 41 (ar1) N Hajy1(00),

Hyos = Haly(a00), 10D
O0000(d,e)0000 (b2)00
‘_fk+1 = Va;c+2a2;+1(ak+l) N Eazazﬂ(ak% (10.8)
Hyy = Eajay,(ax),
oooood
(c)i<h—-100V,000 A0 (106)000000000 (c1)0000O
Vi1 = Vaj,_,(c0), (10.8a)
000000 (e2)00 i
Vi1 = Cayay,_(an—1), (10.8b)

oooo0
(,a)0000 (DO V,;000 H;Ok+1<i<h-1000 (106)000000 (d,a)
oooooooo Vw0 H,,000V,,0000 M0O00 ()0000000
Ope ADDO (d,a) e X0000000V, 000000000000 meZ00000
fmp) eV, 0000000

00 10.1. A= U4, 1 ={1,2,...,n}000000000ie/0000 4000000
00000000f0 ADD f(A)00D0D0O00000(102)0000000 4000 1020
30000000000000000 (d,e)ex00000000000p000000

00. (d,a)eX0 (000000000000

Bi={pecA| fp €V,m=0,1,2,...}, 00O
€ Vom,

By={pe Al f™p) m=12,..)}.
0Dood
oooo
Voi2.m ={p€A| f™(p) € Vi,m=0,1,2,...,n}
=VonftVinf . . Voanf~Y (V). .,
0oooon

003000V,anf1(V,)0 Ad, ,0000000000000000Vy12,.,0 Aay0O
00000000

00000 Voag..me1 C Voi2.,00000neNOODODODDDOOOOOOOOOOO
00 By =NusoVo12.,#200000000((0O000000000)0

(105)00 H_,,;1=f(V.,,) 000000000

By={peA|f™p €H_,,m=0,1,2,...}.
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goooood

.....

= }_[0 N f(ﬁ,l n.. .H,nJrl N f(an)) .. )

-----

00100 BiNBy#00000
(¢,a) €¥X0 (b1)ODD (b2)00D0D0000000000OD BO0DODO (00000
000000000000

Bo={peA|f™p) eV pm=12....—(k+1)}.

(105)000m < —(k+1)00 H = f(V,,) 00000000 (10.7)0 (105000
00 f**p) € Vi 00D fH(p) € Hpn 00D f**2(p) € Hyy, 0000000

By ={peA|f™p) eH ,,m=0,1,2,....,—(k+1)}
= HoN f(Ha N0 f(Hepo O f(Higa)) )

00000HNf(He) O H,,DDOOOOOOOOOOOOOOB,O H,OOOOO
00000000 BiNnB, 00000
000000 (d,ae)0 (c)000 (d)000000000000000000 O

gb 2000 300000000000 bbouoan

(a) AiD0DD0ODODOOODO0 As0000D000 100000000

(b)OOmeNOOODOVOOOOVCV:,000ry,0<r<1000000000j€l]
OO00O0bD0db EkEeNOOOOOOODODDO

d(f~(V)ynVij(k)) < wvd(V).

OdoooodOme NOOOO HOOOO HC Hi,, 0000000 je , 00000003
keNOOOOOOOOOO
d(f(H) 0 Hij(k)) < vd(H).

goboboogdgob1obpbogdbnbon

11. Do gooooon

00 1010000000000000000000000000000000VO000
00 102000300000000001000 0000000000000

000 VOO A= U A, I=1{1,23,4,50678 0000000 4000 (9.3)0000
000000000000 100000000 400007y,j=1,2,3,4000000
00000000000000000T,06001000000000000000()00
0000000T,00040000000000000000

42



0 11.1

00 A0000000+0 (104)000000004(0)el,000~(1)elL,00000
DO0004(0)el;000 (1) el, 000000000

0 11.1

009100092000000000000000000000000000000¢(Al)
000 ¢(A8)00 11.10000002000000000D_0000¢(A4) 000 ¢(A5)
00000000000000000000¢(A2)0¢(A3)0¢(A6)000 ¢(A7)00 11.20
00000 DP*uD'00000000000000000000000000000000
0oo

00000i=1,4500080000 k>m'0000000:=2,3,6000 70000
k>m20000

Hij(k) = ®(cl(yp(Ai)) N Qk) N Aj, 1=1,8, j=1,2,

Hij(k) = ®(cl(v(A)) N Q) N Aj, 1=4,5, j=5,6,

Hij(k) = ®(cl(yp(Ai)) N P21k+1) NAj, =23, 7=3,4, (11.10)
Hij(k) = ®(cl((Ad) N PL)NAj, i=6,7, j =3,4, ‘
Hij(k) = ®(cl(1p(Ad)) N P22k;) N Aj, 1=2,3, j=1,8,

Hij(k) = ®(cl(y(Ai) NP5 )NAj, i=6,7,j=78.

O000¢=1,2500060000 k>m'00000004=3,4,700080000 k> m?
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gogd
Eli(k) = H8i(k) N ®(032),
Emi(k) = H4i(k) N ®(055.),
Eli(k) = HTi(k) N ®(o"),
Emi(k) = H3i(k) N ®(ay),
00 k0000000 p e Bli(k)(Emi(k)) 00 -
D0000t0 —o000000 pt,p)0 LS(M*) OO

0 11.2

i=1,2,
1=50, (11.1b)
i=3,4,7,8,
i=3,4,7,8.

Yp)ODDODODOODO0g(t,p)000O00

gog

gobobbouogoboboboooooboboogoobobuooobbbdds=1,2,50
0060000 k>m!'00000004=3,4700080000k>m?20000

Vij(k) =~ (c(@ 1 (A) N Q) NAj, =12 j=18,

Vij(k) = ¢ (@A) NQ,)NAj, 1=5,6,j=405,

Vij(k) = ¢ (@71 (Ad) N Py yq) NAJ, i=3,4, j=2,3, (11.2a)

Vij(k) =y (@A) NP)NAj, 1=7,8,7=2,3, ‘

Vij(k) = Y cl(PH(Ai) N PL)NAj, i=3,4, j=6,7,

Vij(k) = ¢ (c(@ 1 (Ad) N Py ) NAj, i=7,8, j=6,T.
O000:=1,4500080000 k>m'0000000:=2,3,600070000 k>m?
ooono

CLi(k) =V2i(k)ny~t(o32), i=1,8,

CMZ(k) = V6i(k)N ¢—1(0§§>ﬂ)7 1=4,5, (11 2b)
CLi(k) =V3i(k)N wil(ai), 1=2,3,6,7, .
CMi(k) =VT7i(k)N Qﬁ_l(ai), 1=2,3,6,7.

OO0o00oDoOoD fODO0DOO0ODOOOODOODODOO

k,i0000 pe CLi(k)(CMi(k)) O

000 ¢t,p) 000000000000 ¢t0 400000000 ¢(t,p)0 L(MHOOOOO

44



gbobobogggooboobod

H1(s0) = & NOAL, V1(co) = & NOAL

H2(00) =& N0OA2, V2(oo) = {i%'},

H4(oo) = {m*'},  V4(oo) =& NOA4, (11.3)
Hb5(00) = &, N OA5, 5(oo) &3 M OA5, '
H6(00) = &, N 0A6, V6(oo) = {m"?},

H8(c0) = {12}, V8(c0) = & N OAS.

H3(c0) = V3(co) O "0 m* 000 f, 000000 H7(c0) = V7(co) O 1320 m*200 0
4000000
f0000000 40 (10.1)00

Ay = (11.4)

_ O O O O O O =
_ o O O O O O =
S R = O O = = O
S =R = O O = = O
O O O = = O O O
O O O = = O O O
SO = = O O = = O
SO R R O O = = O

0ooo

A, 00000 (102)0000000 JusS000000.A0000S80100000000

0000000000ie/0000000000

() pecd(A)0D0OD0 f(p)(f(p)00D0D0ODO0LO 4o00(—c0) 000 ¢(t,p)0000
00D00000q, () =10

(i) pe ADOOO f(p)(fX(p) 0000000 ¢0 400(—00) 000 @(t,p) 0 Li(L*) O
000000 () =10

(i) pe AiDDODO f(p)(f'(p))D000O000¢0 +oo(—o0) 00D o, p) O M (M?)
0000000 () =10

(iv)0DODODOO0OO0O aq = 0.

gobobooggoboood

Osxs | (11.5)

>
I
—_ O O = = O O
_ = = 0O O = ==
O R = = = = = O
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(11.6)

000 Osxs(Osxs) 0 8 x3(3x8)000000000100000000.400000 %0
0000000000000000

(11.1)0(11.2)000 (11.3)0000000000000020 (a)00000(Mh) 0000
00000000k>m! 0000000 VI8(k) 00000000 (11.22)000

F(VI8(K)) = @[@~H(AL) N QL Ncl(y(A8))]
= A1 N ®[Q{ Necl(y(AR))] = H81(k)

0000m=10004+=80000 (10500000 11.300000V18(k)000 (00)
000 v, 000 (k000 hy) 000000000002 0000000000f00
00000000000 11400000000000f000 v,v»,000 A/ 0000000
00000000020 (bh)O0000000000000000

g 11.3

00 11.1. E(V)0 40000000 (000)00000meNOOOO EC Hi(m)(V C
Vi(m))00000000 f(E)NHij(k)(f~(V) N Vijk)) 0O Hij(k)(Vij(k) 000000
0000000 el(jel)00000 0000 A4;00000(000)0000

00.¢(E)0¢(A)000000000000i=1,800 D,00000i=4,500 D_0O
0000i=2300Dp*00000i=6,700 D'000000000¢(E)di=1,800
0i=4,50000000%,0%0000000000000000000¢(E)0 000
¢ 000000000 Hij(k)0000000000 je,0000000keNOOOD
W(E)N® Y (Hij(k)#0000000000000000000000 O

b 12000 30000000bbuoogobbbbuooaobo

00 11.1. e, <e < 55/4000%0 TUS ={1,2,3,4,5,6,7,8 U{N, L, M,n,l,m} 00O
0000000000000000000000(11.4)0(11.5) 000 (11.6)0000000
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0oo
A (A A
Az Og
000000000000 (a), (), (), (dij),i=1,2,7=1,200000000

0000 a; > m*(e) =max(m',m?) 0000000 (d,e) eX000000000000
peAa,000D0

U114

0011.10000000000000000000000000000000
peAD (d,a)ex000000000

(¢,a) 0000 ()00 o(t,p) 1000000000 S000000000 0 ¢t,p)0
S5, 0000000000 400000

(¢,a)0000 (b1)0000000000000 (1072)00000 k<00000

fkﬂ(p) € Vi = V@;s+2@;s+1(@k+1) N H%H(OO):

00004, 000d,,,01,2,3000600000000000 Hdj,,(c0) C &UEDD
O0e(t,p)0000000000000000 (b2)00 (d,e) exX000000 k<000
00 f*(p) € Eajdy,,(a;) 00000000 ¢(t,p)0a, =100 00000000000
a,=m00 M*00000000000000000O0O(c1)0000000000000
000000000(2)0000a, =L00 L0000000e,=MO00 M O0000
000000000 (d)000000000000000000000000 11.10000
000000000000000000000000000000POO0OOOOED CO
00000000000000

0 11.11
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AD0DO0ODOOOODOOODOOOOO0ODOO0ODOOOOOOO0DO0O000

p€ A2UA3000f(p) 00000000 OpO f(p)OODO w(t,p) 0D 00000t 0
00 t000000¢(t,p) € S, 0(ty,p) € D3, p(ts,p) € STUSTOOOOp(t,p) € STUST
00t € (0,t1)U(t,t2) U (e, t3) 00000000 f(p) € ASUA4D DO p(ts,p) € STOOOO

0 11.1I1

fp) € ATUASD O o(ts,p) €S- 0000pe AGUAT CUODDOD p(ty,p) € STODDO
O00ooo0ooooooooon
peASOOODOOOD(tp)0 0000 STOOO00 f(p) € A200 50 6 =7/200
0000000000000 000000A0 D,O0000000O0O0O0O0O0Of(p)eA100O
fl(p)DOOO S 0O0O0O0OO0OO0O0OU0COOOOODOOO AlODDOOODODOOO
O11III0 ADU0DO00000000du0oogooouooy 00040 StusS-0odo
DDDDDDDDDDDDt;;DDf(p)DDDDSJFUS*DDDDDDDDDDDDDDDD
o0o00y000000000000O0000O00DO [L,O0_ 00000000000 0000O0O
0e000a,060=r/2(SY)000 0 =—7x/2(S")00000000000000 ¢, 000
a;H_lDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
000000 msd 2o =0000000100000000000000
od30000o0o000ga
(1) (a,;a)= ((...4,6;3,7,8,1,1,...),
(...a_g9,a_1;a9,a1,az,...)),
(2) (alva): ((la1§2a4>N)=(a—27a—1§@0700))>
(3) (a';a) = ((m,3;4,6,7,L), (a_2,a_1;a9,a,az)).

01150116000 11.7000000000000000000000000C00CO0O0
00(,e)000 11.100000000000000000000000000 «,0000
ooooooo

000000006, <e<e00000A=UcrAi, 1 ={1,2,3,4,5,6,7,8)000000
0000 A0 (9.1)00000007/US0000 f00000000 (102)0000000
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goooog

Ay =

—_ =0 O = =O O
—_ == OO =

1

0000 X0 (11.7) 0000000000000 0ooooooooooo

Ao

O O =

O O O O o o o o

o O O O o o o

0

O O~ Rk O O =

S O OO O o o oo o

_ = OO O O O o O

_ = O O O O O O

O O = = O O = =

A

O O = = O O = =

O OO O = = O O

—_—_ O O O O

O OO O = = O O

O = = O O O

O O = = O O = =

O = = O O O

_ = O O O O

= = O O O O

_ o = O O O

_ o = O O O

_ - O O O O

(11.7)

000 VOO0OO000D00O0O0e.<e<e00000000Oa; >m*(e)000 (o,a)00
0000000000000 pe Aqy0O0O0O
oooboobobobooooobobobooooobobobobooobodbonezOon
O00a,=500000 ()0 (¢/,) 000000000000 O0O0OOOOOOOOOOOO
0000000000000 =7/20000000000000000000 e3<e<5bb/4

goobooggn

g 11.5

000000000 A0 (92)0000004000000000000000000
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goobooogooo

1010[110000
0101101000
0101101000
1010110000

4| 0000
0000
0000
1111 .
1010

L0101 |

goooooboobobibb »nooooooboobbobbbbbbbbbobobbbon
gbbooooobbbuooobobbbuooogno

U 11.6

20



g 11.7

12. JO00O0ooooobooon

0000000000000000000000000000000000000000
10.1000000000000000000000000000000 (1.5)0000 21000
[’00000000000000000LY(2?) 000000000000 Fix(L)(Fix(L?)) O
0000000000000000(300)00000 p € Fix(LY)0 7= min{t > 0|¢(t, p) €
Fix(L)UFix(2?)}000000000¢(t,p) 0000000000000 0¢(p) € Fix(L')
00 ¢(t,p)0 L'00000002-r000000¢(t,p) € Fix(L2) OO o(t,p) O L' 000 L2
00000004-000000

0000000 Fix(L) =~ Uv, U~y 000 Fix(L?) =4 00004.1)0000000
0~ 0+ 0000000000000000000000000000000000000
000000000 v,7,7,000+.000000000000000000000000

0 12.1

o1



D,UD, 0000000000 {;},{=}}000 D_UD. 0O00D000D0000 {y}, {¥;}0
00000000 {®()}, ({2(@)}), (v~ (@)}h (=)}, {2@)} (2@}, {v~ )},
{¢~'(y)}), 00000 &0 200 0 20m"' 0 m? 000 m*' 0 m200000 MO
00000000000000j>m?000 {d}, {3}, {d} 000 {¢}0 MO0D00000
Do0000000000{2(c)} {2}, {2(d)}{2(d)}, {v )} v )}, {v1(d))}
000 {¢'(d)}0000000000000 6,02000000000000

00 12.1. e.<e<e 000000000000 ,mO0000000000L'00000
0000000000 (D 12100)0100000002,>00n00000002,<00
mUOO000000000xz, =000 20000000 121000000000 10000040
gb 20000000

00. 00 &(z;)N¢ ),k >00n0mOD0000000000000nr0 mOO
0000000 )Ny (y,),5,k>0000000000 &(z;) Ny (y,) 000 &a}) N
v Yy;),5,k>00000000000000

O000nr=mO00000 [200000000000000000000000 2,000
0000000 (0 12.1¢00)0 O

gbobboogobbbuooodib 1210b0bd0dnbmb00000oobOobOOgn

00 12.2. 51 <e<55/4000n,m0000000000000On#mO000L'00000
O00000002000000 1222000 122b000000000sgn(z)0000 n+m
gbobbobddz0ddbbbbugdub1buooddtdn=mi0 00000000
001000000 (0 12200)0

00. 00 ®(z;)N¢ () 000n0 mOODOOOD0 2, >00 n+mO00000000
000000000R0mODOO0D000000 &) Ny (z,)000000000000
®(z;) Ny Yz,) 00000000002, <0000000000000000000000
O

U 12.2
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0 12.3

00 123. e<e 0006 <e<55/4000npm0000000000000
() '000000000000200000:<¢,00000 12320000 ¢, < e < 55/4
00000 123b00000000010000000 m30 2,=000 n+mO00
OO0n=mOe<s000000n02,=00000000001000000 (O
12.3¢00)0
(i) '00000000000020000010000000 ms0 2,=000 m0O0O
DO0Osgn(z,) 0000000000000 (0 12400)0

00. ()0000e<e000(c)Ne(ch)DDOO &(2)Ny~(}) 0000006, < & < 55/4
00 ®(c)Ny () 000 &) Ny () 0000000 OD0D0000000 0
000 &(z;)Ne~N() 000 b(y) Ny~ (ch) 00D DDOD O

0 124

23



g 12.5

00 124. e <000 e, <e<b5/4000n,mO000000000000O00OO
(i) L*0000000000000000100000000e<& 00000 12.5a00
O000000mg0 2,=000 n+mO000000 e,<e<55/400000 12.5b
gooodbobodidn+m+100000000000rn=mududlgbobogon
n+1000000 (0 125d00)0
(i) 2000000000000000010000000 m30 2,=000 2mO00
O00z,>0000000n002,<0000000n000 (0O 12600)0

O0. (()00000e<600®d)Ny (d)0000e, <e<55/400 &(d})Ny'(dh)
D0DD0G) 0000000 &) Ny (d)00000 O

U 12.6

00 12.5. e<e 000 e <e<b5/4000n,mO00000000000OC0OO
(i) L'!000 L?0000000000000000100000000e<e, 00000

o4



1270 0000000000 127b000000000ms 0 2, =000 2(n+m) O
0o0oo

(i) L'000 [20000000000000000100000000ms0 2,=000
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